2
o

ApTUKYN

HanmeHoBaHue

Kon

BuHt M6%10

BuHT M6%35

BuHT M6%25

791-998-004

Kpbiwka

791-998-005

LLanba 20x32x7

791-998-006

BuHT M10%10

791-998-007

LWaiba

Kopnyc peayKkTtopa nesas 4acTb

©lo|N|o|u|s|w n|-]:

791-998-009

MpoKnaaKa peaykropa

[EEN
o

90-0419

NogwunHuk 6004

[any
[y

LWainba

[E
N

791-998-012

Konbuo CTOnopHoe

[EEN
w

791-998-013

Ban

=
H

791-998-014

MoawwnnHuk 30203

[E
Ul

791-998-016

LLlecTepHn peaykTopa

[EEN
[e)]

791-998-016

LnoHKka 5x19

[E
~N

Kopnyc peayktopa npasas 4acTb

[EEN
(o]

larka M6

[EEN
\e]

791-998-019

Ban uepBAYHbII

N
o

791-998-020

LLnoHka 4.7x13

N
=

90-0459

MogwunnHmk 6204

N
N

791-998-022

LLKuB

N
w

LWarnba

N
N

LWaiba

N
(%]

larka M12

RNl IRIRIRIRINININRIRINMIMw [ d o

*

791-998-024

PenykTop B cbope

KynbtuBatop 6eH3nHOBbLIN

Mogenb

XObbUT

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




g 28

v

2% Ne ApTUKYN HanmeHoBaHue Kon
27 26 Malika M8 3
29 |791-998-029 |OBuratenb 1
8 30 |791-998-030 |LWkue 1
8 |31 Wai6a 10x32x2 1
o 32 Bml-w M10x30 1
33 fanka M6 4
35 Onopa gsuratens 1
36 BuHt M6%x14 4
2 'l"lﬂll 38 BuHT M8x%35 3
= (i
39 Pama BepxHAA YacTb 1
- - o 40 [791-998-040 |PemeHb 1
36 30 41 KonbLo cTonopHoe 1
:; a1 42 (791-998-042 (LLKkne 1
1 32 43 190-0410 MoawnnHuk 628 1
44 laka M8 1
e 45 LWaiba 8x22x1.5 1
1 46 |791-998-046 |KpOHLWTENH HaTAXKUTENA 1
M y 47 (791-998-047 [MpyrKmHa 1
44 42 h 48 [791-998-048 |Btysika 1
45 43 51 BuHT M8x30 1
47 46 . 52 BuHT M6x14 4
48 53 BuHT M8x20 6
53 55‘: +F 5i = Bt 54 Waii6a 4
77 P 79 55 LWaliba 8x25x2 4
] 0 56 Pama HMXHAA YacTb 1
57 54 A 57 MaHenb 1
58 3 ) 58 BuHT M6x14 3
; L 69 N 59 Kpbino 1
68 60 Wait6a 8x16x1.5 2
7 61 LWarba 3
L 62 BUHT M8x25 3
. Mogaenb
I KynbtuBatop 6eH3nHOBbLIN XOEEUT
6 67
Technical department Assembly drawing
6 Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




g 28

v

33 1IT]
2re——34 oo
- 33
36
37
38
39
~
?
41
44 4
45 83
46
47
48
23 2 3l &
94 3
57 54
a8 3
n 69
¢
7
74
6. &7
6

76

68

D

27
28

30

3l
32

78

77

29

79

Ne ApTUKYN HanmeHoBaHue Kon
63 Malika M8 1
64 LWanba 8x25x2 4
65 Koneco 1
66 KpoHwWTenH Koneca 1
67 BuHT M8x60 1
68 Maiika M10 1
69 Wanba 10x20x1.5 2
70 BuHT 10x70 1
71 |791-998-071 |[Mpy*KuHa 1
72 WnanHT 1
75 Maiika M6 4
76 Crtolika 1
77 WnanHT 1
78 |791-998-078 |CoLwwHMK 1
79 Wrnot 8x22 1
. Mogaenb
KynbtuBatop 6eH3nHOBbLIN XOEEUT

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
80 80 [791-998-080 |PykosTka 2
81 |791-998-081 |Pynb npaBasa 4acTb 1
82 BUHT M6x40 1
83 BUHT 2
84 |791-998-083 |Pbluar cuenneHua (83-86) 1
85 Malika 1
86 MpyXunHa 1
87 Maiika M6 1
88 LWaliba 1
91 BuHT M8x30 4
92 LWaiba 4
93 LLiali6a 8x30x3 4
94 |791-998-094 |Pynb nesad yactb 1
95 laka M6 1
96 LWalba 1
97 |791-998-097 |Pblyar rasa 1
98 BMHT M6x45 1
100 (791-998-100 [Tpocrasa 1
101 (791-998-101 (Tpoc cuenneHmsa 1
. Mogenb
89 KyﬂbTMBaTOp 6eH3UHOBbIU XOEEUT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




102

Ne ApTUKYN HanmeHoBaHue Kon
102 BUHT M8x16 32
103 Hox 8
104 LWaiba 32
105 Maka M8 32
106 |791-998-102 |dpesa, komnnaekT (102-110) 1
107 WrndT 8x35 2
108 WnavHT 2
109 Hox 8
110 LepKaTenb HOXeN 1
. Mogenb
KynbtuBatop 6eH3nHOBbLIN XOEEUT

Technical department Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




Ne ApTUKYN HanmeHoBaHue Kon
1 Kaptep 1
2 MpobKa (wyn) 1
8 MNnactnHa 1
10 MpobKa 1
13 MpoKknaaka npobKu 1
14 CanbHUK 1
16 Wrnot 2
17 Cseya 3axkuraHuma 1
18 bont 1
19 bont M6x16 8
21 bont M6x25 7
24 Faka M6 7
25 MpyxunHa 1
28 CanbHuK 1
! 29 LWecTepHna perynaTtopa obopoTos B cbope 1
5 AR 32 KpbllwKa KapTepa 1
‘S‘gm =g 40 KnanaH 1
‘_®_|_‘_|,!: Vi 57 56 MpyxuHa perynatopa 1
- 57 MpyxunHa perynatopa 1
58 Tara perynatopa 1
59 Ban perynaTtopa 1
60 KpoHLTEeNH perynatopa 1
67 MNpoknaaKa 1
69 Wnunnbka 2
. Mogaenb
KynbtuBatop 6eH3nHOBbLIN XOEEUT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 6




ApTUKYN

HanmeHoBaHue

Kon

3 Tapenka Tonkatena 2
4 Kopombicno 2
5 bonT KpenneHna Kopomblicna 2
6 MpyXMHA KnanaHa 2
7 TapesKka Npy»XuHbl KnanaHa 2
9 Konnayok macnocbemHbIi 2
15 LWanba 1
19 bont M6x16 8
30 KpbilWwKa ronosku UunMamHapa 1
33 MopleHb 1
34 Maney, nopwHA 1
35 Cronop nanbua NopLHA 2
36 KonbLa nopwHesble Habop 1
37 WatyH 1
38 LLlectepHAa KoneHBana 1
39 KoneHuatblt Ban 1
41 Pacnpeagan 1
42 Tonkatenb KnanaHa 2
43 KpoHLWTeNH Kopombicen 1
44 KnanaH BnycKHoM 1
45 KnanaH BbINyCKHOM 1
75 MpoKknagKa KpbiwKu 1
76 LLInoHKa maxoBuKa 1
77 bont 1
78 LWarba 1

KynbtuBatop 6eH3nHOBbLIN

Mogaenb

XObbU

T

Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 7




Ne ApTUKYN HanmeHoBaHue Kon
12 Wnnnbka 2
19 bont M6x16 8
24 laiika M6 7
27 MpoknagKa kopnyca ¢punbTpa 1
31 Matpybok 1
46 Kopnyc ¢unbtpa B cbope 1
47 Kap6topaTop 1
48 Mpoknagka TennonsonaTopa 1
49 TennonsonAatop 1
50 Mpanmep 1
51 MNMpoknaaka kapbropaTopa 1
62 bak TonAnBHbIN 1
63 MNpobKa bakKa 1
70 Wnnnbka 2
71 LWnaHr TonnmeHbIN 1
73 3axnm 2
79 ®unbTp TONNNBHbIN 1
. Mogaenb
KynbtuBatop 6eH3nHOBbLIN XOEEUT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 8




Ne ApTUKYN HanmeHoBaHue Kon
v 20 KpblnbyaTKka maxoBuKa 1
= = 22 Faiika M12x1.25 1
2\ SN 24 laiika M6 7
7 ) £ rh)
(244 Z!lr \ 54 Craptep B cbope 1
I i=\\\- = ‘ \\ 55 Koxyx 1
iy Vé%\“\\ A\ \\ 64 M ; 1
L\ o ARARRRARRHNES— 54 arweo
JHEE \5 ‘.%\xi\'\ \/ 65 MaxoBuK 1
LB <! !J‘If ‘l( I\ e
el ) bt Wt W 66 XpanoBuK cTapTepa 1
68 bont 1
74 Koxyx umnmuapa 1
1l R Mogenb
KynbtuBatop 6eH3MHOBbDIN
¥ P XOBBUT
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 9




